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private char math operator;
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public class JavaCalcoulator extends javax.swing.JFrame {

private double totall = 0.0;
private double totalZ = 0.0;
private char math operator;

public JavaCalculatorxr () |
initComponent=si)
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private wvoid getOperator (Scring btnText)
mat.h_nperat.nr = htnText.charic (0)
totall = totall + Double, parselouble(txtDisplay.getText())
txtDisplay.setText ("");
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math operator = btnText.charAt (0);
JIy8 charAt gl jiol o (o Lo B3 350 SIS L35S 5o 8l s | sl Sy I SIS S, charAt sgio
CharJﬂiZioAL:'xéJéw.bﬂgbo_ﬂﬁOJJLSULSJ)OJL:MO;L&JJAlDGLmMS)b.&bL:Ubl.n.'u.bJ:Suo
gl 50 8253 qoul 55 Eukiy AS UL > 8S
I S losd LG8 g Suiuusd oglle 6u (5 0SS bghs suliio i8S b3 g3 ¢l oS cuds S §3 Sos hd gs o0
JB o2l 68 Cuwl pjU 60Ss o g5l ol totall pL oy (5 ustio j> dac pdgl (5w 6u53 — Saas ;o Pl juw
Sl 50 glasliwo 0SS §gil ol 60 bgy yo AS (51> 60 3giio j> b3 g (il 5929 (2l plu (s> plsl 1

totall = totall + Double.parseDouble (txtDisplay.getText( ) )
txtDisplay.setText ("");
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String button text = btnPlus.getText();
getOperator (button text);
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String button text = btnMinus.getText();
getOperator (button text);
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String button text = btnDivide.getText ();
getOperator (button text);
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String button text = btnMultiply.getText();
getOperator (button text);
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switch ( math operator ) ({
case '+':
break;
case '-':
break;
case '/':
break;
case '*':
break;

}
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total2 = totall + Double.parseDouble( txtDisplay.getText( ) )
txtDisplay.setText ( Double.toString(total2) );
totall = 0;
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total2 = totall + Double.parseDouble (txtDisplay.getText (

break;
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v/v.

total?2

Tk .

= totall - Double.parseDouble (txtDisplay.getText (
break;
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total2 = totall / Double.parseDouble (txtDisplay.getText (
break;
total2 = totall * Double.parseDouble (txtDisplay.getText (
break;
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switch ( math operator | |
case "+':
totalz
break:
case '~

totalZ = totall - Double.parselouble(txcDisplay.gecTexti))
break:

totall + Double.parselouble(txthisplay.gecText())

W

case "/':
total?z = totall / Double.parselouble(txtDisplay.gecText ()]
break:
casse "%
totalz = totall * Double.parselouble(txtDisplay.getText()) :

break:

txtlhisplay.sectText (Double,. toStringitotalZ) ) ;
totall = 0O;
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58. 6 + 37.5 (answer should be 96.1)
78 - 25.5 (answer should be 52.5)
68 / 8 (answer should be 8.5)
56.3 * 6.8 (answer should be 382.84)
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